
AMAT 220: Linear Algebra, Spring 2012 Quiz # 18, April 17

Name: . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

• If A =


−2 −6 0 1 −8 −4 4
0 7 0 −3 −5 0 1
0 0 0 3 0 0 0
0 0 0 0 0 0 0

 then rankA = . . . . . . . . . and dimNulA = . . . . . . . . .

(no matrix computations are necessary)

• If a 6× 9 matrix B has rank 5 then dimNulB = . . . . . . . . .

• If C is a 2× 5 matrix then the largest possible rank of C is . . . . . . . . .

• If D is a 4× 7 matrix then the smallest possible dimension of NulD is . . . . . . . . .

http://www.albany.edu/~mv312143/12-3-220/

